I
PART NO. CUTTING TORCHES / CUTTING ATTACHMENTS TIPS

6259B 133, 142,198, 42-4, 49-3, 62-5, 72-3, 73-3, 242, 273 6290

2859 28, H28 2890 —=

9008437 36-2 3690 - =

4559 59-3, 880-NM, NM-250, 242-NM, 273-NM 8290 | %' S5i.8]

9002537 573,980 6290 ST
9005236 V-Series 1-101-HV 9002537 6259B
VH24593 VH24 1-101-HV

ROLLER GUIDES & CIRCLE CUTTING ATTACHMENTS

R-69-880

PART NO. ANGLE CONNECTION FOR TIPS CUTTING ATTACHMENTS / CUTTING TORCHES NOTES

1-69-4 90° 6290 142, 62-5, 42-3, 42-4, 49-3, 572, 72-3, 73-3, 242, 273 Single wheel guide
1-69-5 90° 3690 36-2 Single wheel guide
1-69-6 45° - 135° 6290 142, 62-5, 42-3, 42-4, 49-3, 572, 72-3, 73-3, 242, 273

1-69-6-HV ~ 45° - 135° 1-101-HV V-Series

1-69-7 45° - 135° 3690 36-2

R-69-3B 90° 6290 142, 62-5, 42-3, 42-4, 49-3, 572, 72-3, 73-3, 242, 273

R-69-4C 90° 8290 NM-250, 880-NM, 59-3, 242-NM, 273-NM

R-69-880 90° 6290 880,573

R-69-A 90° 2890 28, H28

PART NO. FROM (FEMALE) TO (MALE) l

38-2AL 9/16”-18-UNF-3B-LH 622”-18-UN-LH i %
38-2AR 9/16”-18-UNF-3B-RH 622"-18-UN-RH =
38-2FL 9/16°-18-UNF-3B-LH M16 x 1,5-6g-LH § =
38-2FR 9/16”-18-UNF-3B-RH M16 x 1,5-69-RH =
38-2GBL 9/16”-18-UNF-3B-LH G 3/8” A-LH-UNI IS0 228 -
38-2GBR 9/16”-18-UNF-3B-RH G 3/8” A-RH-UNI IS0 228 38-2GBL  38-2GBR
38-2GR 9/16”-18-UNF-3B-RH G 1/4” A-RH-UNI IS0 228

38-46L 9/16”-18-UNF-3B-LH G 1/4” A-LH-UNI IS0 228

38-3FL M16 x 1,5-4H-LH 9/16-18-UNF-2A-LH

38-3FR M16 x 1,5-4H-RH 9/16”-18-UNF-2A-RH

38-56L G 1/47-LH-UNI IS0 228 9/16"-18-UNF-2A-LH

38-5GR G 1/4”-RH-UNI IS0 228 9/16”-18-UNF-2A-RH

38-66L G 3/8-LH-UNI IS0 228 9/16”-18-UNF-2A-LH

38-6GR G 3/8-RH-UNI IS0 228 9/16”-18-UNF-2A-RH

» Needle valve for precise flow control can replace outlet nipples on regulators
» Particularly recommended for laboratory installations

PART NO. GAS INLET OUTLET

52-L Fuel gas 1/4” NPT 9/16”-18-UNF-LH
52-R Oxygen 1/4” NPT 9/16”-18-UNF-RH
52-DR Oxygen 1/4” NPT 1/4” NPT

<D

ALINCOLN ELECTRIC COMPANY

THE HARRIS PRODUCTS GROUP
www.harrisproductsgroup.com

International Equipment Catalogue




